A90 11 APPENDIX I ANSWERS TO ODD-NUMBERED EXERCISES

(@), (b) x*

0

7.9 =1/x*+1)

9. g(y) =y*siny Il. Fl(x) = —/1 + secx

13. H(x)= —%;I/X) I5. y = y/tan x + /tan x sec’x
3(1 — 3x° 3

.Y =1 U T 63

23.5 25,7 2.2 29 % 31,1 33 %
35. In3 37. 39. e — 1 41. 0

43. The function f(x) = x~* is not continuous on the interval
[—2, 1], so FTC2 cannot be applied.

45. The function £(0) = sec 0 tan 0 is not continuous on the
interval [7/3, ], so FTC2 cannot be applied.

41. % 49. 2

51. 3.75

—24x* - 1)  309x* — 1)

3. 900 = e 1 9 + 1

— 2u7/2 gin(3) sin\/;(
55. y = 3x"/?sin(x®) 2 57. V257  59. 29
61. (a) —2+/n, \/4n — 2, nan integer > 0
® 0, 1),(-v4n—1, —/4n — 3), and (vAn — 1, VAn + 1),
naninteger >0 (c) 0.74
63. (a) Loc. max. at 1 and 5; ¥
loc. min. at 3 and 7

b) x=9
© (3.2).(4.6).8.9) 0
(d) See graph at right.

65.5 13 f(=x*a=9
75. (b) Average expenditure over [0, {]; minimize average
expenditure

EXERCISES 5.4 = PAGE 397

5.8 -1/ +C 1T.ix¥—ix'+ix—2x+C
9. 20— P +if -1+ C i -4x+C
13. —cosx+coshx+ C 5. ;0% + cscO + C
17. tana + C

19. sinx +3x* + C 10 5

—ml ¢ — |10
-6

21. 18 23. -2+ /e  25. 52

27. 2 29 -% 310 ¥ 33 25 358

37. 1+ w/4 39.%% 41 w/6  43. —35

45. 0,1.32;0.84  47. 3

49. The increase in the child’s weight (in pounds) between the

ages of 5 and 10

51. Number of gallons of oil leaked in the first 2 hours

53. Increase in revenue when production is increased from

1000 to 5000 units

55. Newton-meters (or joules) 57. (@) —sm (b) §m

59. @) o() =3 + 4t+5m/s (b) 416 m

61. 465kg  63. 1.4mi  65. $58,000

67. (b) Atmost 40%: 5

EXERCISES 5.5 PAGE 406
L —e*+C 32X +1)+C 5 —icos'0o+C
7. —tcos(x) + C 9. & (3x— 2"+ C
I 3@2x+x3)¥*+ C 13, —3In|5 - 3x| + C
I5. —(1/mcoswt+ C  17. 2\Bax+ bx® + C
19. iInx* + C 2. 2sin/t+ C  23. 3sin’0+ C
25. 51+ e+ C 2131+ 2+ C 29 e™ + C
31. —1/(sinxy) + C  33. —%(cotx)**+ C
35. —In(1 + cos’x) + C  37. In|sinx| + C
39. ysec’x+ C 4l In|sin'x| + C
43. tan"'x + 1In(1 + ¥*) + C
45. ;(x + 2" —S(x + 2" + C
47. 3(x* — 1)+ C 49. ;sinx + C
1 0.35

el
A O

-1 —0.35
51.0 531 554
5.0 59.¢e—+e 61.3  63.1(2y2 —1)a°
71 /314

65. 15 67.2  69.In(e+ 1)
73. 67 75. All three areas are equal. 77. =4512L

79. S 1- cosm L 8l. 5 87. w%/4
47 5

CHAPTER 5 REVIEW = PAGE 409

True-False Quiz

1. True 3. True 5. False 7. True 9. True
11. False 13. False 15. False
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Exercises 3. m/2 y y
1. (@) 8 (b) 5.7
y y
[
5 y=flx) 5 y=fx) \
0 0 '| x
6 6 |
y

5. 1627 y
J— y:9
3.;+7/4 5.3 1. fisg fish [[f()dtisa (6:9)
9.37 I  13. =76 15 %  17. Does not exist o
19. 5sinl  21.0  23. —(1/x) — 2In|x| + x+ C = 2dy
25. VX +4x+ C  21. [1/@m)]sin’wt+ C
29. 2¢¥*+ C  31. —3[In(cos 0] + C
3311+ x') + C 35 In|1+seco| +C 37.% ’ . ’ ‘
39. 21 +sinx+ C 4. % 43. F'(x) = x¥/(1 + x°)
45. g'(x) = 4x°cos(x®) 47 y = (2¢" - &)/ (2 7. 47/21 )
49. 4< [\/x + 3dx<43  55. 0.280981 ’
57. Number of barrels of oil consumed from Jan. 1, 2000, through
Jan. 1, 2008
59. 72,400 61. 3 63. c~=1.62
65. f(x) = e*(1 + 2x/(1 — e 7L % —
PROBLEMS PLUS = PAGE 413
I.7/2 3. f®=3x 5 -1 7.¢2 9 [-12]
1. @ 3(n—Dn  (b) 3[6]2b — [B] — 1) — 3[al(2a — [a] — 1)
17. 2(v2 - 1) 9. 647/15 y
yi=x

CHAPTER 6 N “.2) %
EXERCISES 6.1 = PAGE 420 . el -
L2 3. e-1/e+% 5195 7.; 9.In2—;
.3 13.72 15.2—-2In2 17.35 19. % 1. /6 y y
218 233 25.7-% 27.In2  29.65 \
31543 -1 33.06407 350,090,004  37. 838 ‘
39. 12,6 —9 41 1175 ft  43. 4232 cm? B y=1
45. (@) CarA  (b) The distance by which A is ahead of B after y=vx (.1 BE -
1 minute (c) CarA (d) = 2.2 min _ ll
41. 23 49. 45 51 +6 N/

53.0<m<l;m—Inm-1

EXERCISES 6.2
1. 197/12

PAGE 430

y _ 1

0




